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Formulate the calculation illustrated on the following number line.

Illustrate the following calculation on a number line.
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Formulate the calculation illustrated on the following number line.

Illustrate the following calculation on a number line.
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Formulate the calculation illustrated on the following number line.

Illustrate the following calculation on a number line.
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Calculate the following. (addition of the same sign)

(8 (5 (7 (8
(8 5)
13

(8 (4 (8 (9 (100 ( 4
(8 4)
12

5 4 ( 5 ( 4) 9 6
(5 4)
9

Calculate the following. (Which number has the largest absolute value?)

( 8)x( 5) ( 7)x( 8
(8 x5) 40

( 7)x( 4) (8)x( 7
(7 x 4) 28

( 32)=( 4) ( 75)=( 5)
(32+4) 8

( 72=( 9 ( 72=( 6
(72+9) 8

Calculate the following. (Which number has the largest absolute value?)

(.8 (9 (7 (3 (6 ( 14) ( 17) ( 23)
(8 5)
3

(2 (.8 (3 (7 (18 (7 (9 ( 17)
(8 2)

6

(9 (4 (9 (9 (9 (2 (3) ( 10 (120 (9
(9 4)
5

(4 (8 (9 (9 (2 (5 (7 (6 (1) ( 4
(8 4)

4

5 9 (5 (9 6 10 12 5 9 23
(9 5)

4

7 3 (7 (3 8 3 7 13 13 5
(7 3)
4

3 ( 5) ( 3) (5 5 (7) 12 ( 5) 15 ( 22
(5 3)
2

9 (5 (9 (59 10 (7 3 (3 5 (7)
(9 5)
4

2 (7 (2 (7 6 (9 14 ( 8) 15 ( 34)
(7 2
5
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Calculate the following expression.

Calculate the following expression.

(3 (9 (7 (8 ( 8)x( 6 ( 7)=x( 6
(3 9 (8 x6) 48
12 ( 7)=x( 5) ( 6)x( 9
(7 (9 (719 (9 (09 (7 x5) 35
79 (32+( 2 (49=( 3
16
3 8 ( 3) (8 5 9 (32+2) Lo
(3 8) ( 72)=( 8) ( 72+( 3)
11 (72+8) 9
Calculate the following expression. Calculate the following expression.
(3 (5 (1) (5 (12) ( 5) (17) ( 31)
(5 3)
2
(8 (8 (6 (2 (8 ( 15 (120 (9
(8 6)
2
(4 (8 (4 (58 (5 (9 (12) ( 3) (8 (17)
(8 4)
4
(5 (2 (5 (2 (4 (12 (6 (9 (32 ( 14)
(5 2)
3
6 2 (6 (2 9 8 6 13 21 13
(6 2)
4
2 8 (2 (8 7 1 3 12 12 25
(8 2)
6
4 (9 (4 (9 2 (6 14 (7 15 ( 27)
(9 4)
5
4 (2 (42 7 (2 3 (9 26 ( 18)
(4 2)
2
1 (09 (1) (9 7 (8 11 ( 2 15 ( 24)
(9 1)
8
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Calculate the following expression.

Calculate the following expression.

8 5 8 2 2x( 7 3x( 6)
(8 5) 14
3 ( 3)x8 ( 6)x8
5 7 4 7 24
(7 5) ( 5)=x( 7) ( 5)x( 6)
2 35
5 12 8 12 2= (7 56 <+ ( 7)
(12 5) 6
7 63 — 7 48 — 8
15 17 12 19 9
(17 15) ( 72)=( 9) ( 80)= ( 8
2 8
1 5 2 5 ( 4)? ( 3)?
(5 1) (4)x( 4)
4 16
4 9 4 6 43 3
(9 4) (4 x 4 x4)
5 64
6 4 6 2 1 2x3 3 9x6
(6 4) 1 6
2 7
10 4 7 4 3 2x4 1 5 2x2 3
(10 4) 3 8 1
6 12
12 4 15 4 6 4-+2 9 6—+3
(12 4) 6 2
16 8
5 13 9 13 8 6=2 1 8 4-+2
(5 13) 8 3 1
18 6
8 ( 4 8 ( 6) 9 (7_.3) 9 (5 2
(8 4) 9 4
12 5
8 (.5 g (9 2x(8__3) 2x(9__3)
8 5 2 x5
13 10
9_ (.5 9 ( 4 7 3x( 5 4 2x( 5)
9 5 (9 5) 7 15
4 22
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Calculate the following expression.

Calculate the following expression.

8 3 1 3 8x( 7) 7x( 6)
(8 3) 56
> (8)x8 (8)x5
5 9 4 10 64
(9 5) ( 7)x( 7 ( 5)x( 5
4 49
7 16 8 15 56 =+ ( 7) 48 = ( 8)
(16 7) 8
9 54 — 9 72+ 8
12 27 18 23 6
(27 12) ( 48)=( 6) (90)= ( 9
15 8
2 5 6 8 ( 5) ( 9)?
(5 2) ( 5)x( 5)
3 25
4 8 4 10 23 53
(8 4) (2 x2 x2)
4 8
6 2 9 2 1 2x4 5x 6
(6 2) 1 8
4 9
10 2 8 6 3 2x5 1 3x4 1
(10 2) 3 10 1
8 6
12 5 13 3 2 8+2 12 + 3
(12 5) 2 4
17 2
6 18 9 15 22 4x3x(_ 1) 22 4x3x( 2
(6 18) 4 12
24 16
9 (4 8 (9 3 (6.3 (6 2
(9 4) 3 (9 39
13 12
8 (1) 3 (8 2x(2__4) 3x (3 9)
8 7 2 x( 2)
15 4
5 (9 9 ( 6) 6 2x5 8 3x2
59 (9 5) 6 10
4 16
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Calculate the following expression.

(9 (4 (7 (059
(o 4)
13
(58 (9 (5 (9 (6 (9
(5 9)
14
6 2 (6) (2 5 3
(6 2)
8
1 8 (1) (8 5 8
(1 8)
9
Calculate the following expression.
(2 (5 (1) (9
(5 3)
3
(8 (2 (7 (3
(8 2)
6
(4 (9 (929 (2 (09
(o 4)
5
(7 (2 (22 (3 (1
(7 2)
5
1 2 (1) (2 9 8
(2 1)
1
8 2 (8 (2 7 6
(8 2)
6
4 (7 (4 (7 1 (8
(7 4)
3
4 (5 (4 (59 3 (9
(5 4)
1
1 (7 (1) (7 7 (9
(7 1)

Calculate the following expression.
Addition is exchangeable

(5 (49 (2 (2 (3 (9
(5 4 2
11
(5 (1 (2 (7 (3 (9
(5 (2 (1)
(7 (1)
(7 1)
6
(5 (1 (2 (7 (3 (9
(5 (1) (2
(5 (3
(5 3)
2
5 1 4 7 7 3 6 9
5 1 7 4
5 1 7) 4
13 4
(13 4)
9
5 2 9 4 9 17 1 4
5 2 49
5 2 4) 9
11 9
(11 9)
2
6 2 5 3 2 16 5 3
6 5 3 2
6 5 3) 2
14 2
(14 2)
12




)

Calculate the following expression.
(Addition of the same sign)

Calculate the following expression.
Addition is exchangeable

(e (7 (7 (9
(6 7)
13
(4 (8 (4959 (3 (9
(4 8)
12
2 5 (2 (5 3 8
(2 5)
7
7 2 (7) (2 3 9
(7 2)
9
Calculate the following expression.
(2 (9 (1) (4
(9 2)
7
(.8 (6 (6 (2
(8 6)
2
(4 (5 (9 (5 (1) (9
(5 4)
1
(49 (2 (a2 (7 (3
(4 2)
2
3.2 (3 (2 7 3
(3 2)
1
3 7 (3 (7 2 8
(7 3)
4
4 (9 (4 (9 2 (3
(o 4)
5
4 (8 (4 (59 2 (9
(8 4)
4
2 (7 (2 (7 5 (8
(7 2)

5 4 7 13
(5 4 7) 13
16 13
(16 13)

3

6 5 3 2
6 5 3) 2
14 2
(14 2)

12
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5 Calculate the following expression.
Express the magnitude of the following numbers using the inequality sign "<".
5 2 ) (7) (5 (6 (89
(7 5)
2 8
12
0, 2 0, 3
(8 (5 (8> (9 (8
2, 5 3, 1 13
5 2 5 9 (5 (9 9 7
0,2, 3 3, 5,2 (5 9)
3 0 2 14
6 Calculate the following expression.
Find the absolute value of the following number.
(6 (5 (7 (4
8 2
8 8
9 6
(3 ( 10
9 9
Tt 3 4 TU g b
absolute value difference
1T 3 1T 3
(6 (9 (4 (09
Tt 5 2 TU (9 6) 3
,,,k—\
T 5 5 Tt \ \
Sign of number with
( ) large absolute value
Give the sign ( ) of the absolute largest number. (7) ( 5) ( 10) ( 6)
(7 5 2
o~ I,
8, 4 2, 9 ‘ |
Sign of number with
large absolute value
9,6 6,10
(9 (8 (99 (5 (2
(9 8)
Find the difference in the absolute values of the following numbers. 1
9 12 (9 (12 5 18
8, 4 10, 2
8 4 4 (12 9)
9,6 6,10 3
9 6 3 9 5 (9 (5 8 1
2, 7 3, 10 (9 5)
7 2 5 4




Express the magnitude of the following numbers using the inequality sign "<".

10, 12 1,9
10 12
5, 8 3, 6

8 5

3, 10 8, 5

10 3
0, 3, 10 2,10,8

10 3 0

Find the absolute value of the following number.
5 3
5 5

6 6

6 6
21t 5 6 27T

21t 5 21t 5
T 8 21t 1

Tt 8 8 TT

Give the sign ( ) of the absolute largest number.

10, 4 2, 30

9,4 6,20

Find the difference in the absolute values of the following numbers.

10, 4 10, 3
10 4 6

9,5 2,6

9 5 4

2, 8 7, 12
8 2 6

[N I S I S SN N A
1 T T T T T 1T 11 —r 1 11T r11=
10 20
Calculate the following expression.
(7 (9 (1) (09
(7 8)
15
(8 (3 (8 (>3 (10 ( 2
(8 3)
11
5 4 (5 (4 2 7
(5 4)
9
Calculate the following expression.
(8 (3 (9 (2
(8 3) 5
C ]
\Sign of number with
large absolute value
(2) (.10) (7 ( 16)
(10 2) 8
S~
absolu';g;;iagai?f;rence
(6) (.10) (7 (10
(10 6) 4
NS
absolu;g;;iagai?f;rence
n (2 (100 ( 8
(7 2) 5
L |
Sign of number with
large absolute value
(6 (8 (89 (5 (2
(8 6)
2
9 15 (9 (.19 5 20
(15 9)
6
9 10 (9 ( 10 17 6
(10 9)
1




Complete the multiplication table. 4 1
Answer the number that applies to the following squares.
1 2 3 4 5 6 7 8 9
1 1 2 3 4 6 7 8 9
o [ipi 14 18 4x01 20 gx1 72
3 4 x5 20 o 5
4
4 x [ 24 8 x [ 40
5 45
6 4x( 6) 24 (| 6
7 4x11 12 8x[1 64
8
ax(3) 12 O 3
9
4 x ] 28 8 x [ 72
Calculate by addition.
4x7 28 O 7
2x4 3x4 5 Calculate the following expression.
2 2 2 2 8
2x3 3x3 45 =9 9x5 45 30 =5
2 2 2 6 5
(2)x2 (3)x2 35 +( 5) 5x7 35 42 +( 7)
(2) (2 4 !
27+ 3 3x9 27 63+ 9
Calculate the following expression. 9
( 32)=( 4) 4x8 32 ( 36)=( 4
( 2)x1 ( 3)x1
8
2
48 —( 8) 6x8 48 24 —( 8)
(2)xo0 ( 3)x0 .
0
6 Calculate the following formula.
( 2)x( 1) ( 3)x( 1)
2
(2 (3°
2)x( 2 3)x( 2
(2x( 2 (3x( 2 (20 2)( 2)
4
8
2 x 10 3x10 32 42
20 (3 x3)
2x14 2x(10 4) 3x13 9
20 8 28 40 ={( 4=( 2} 60 ~{( 6)+( 2)}
40=+2
2 x 27 2x(20 7) 3 x 27
20
40 14 54
{40=( 4}=( 2 {60+ ( 6)}=( 2
2x34 2x(30 4) 3 x 32 ( 10)+( 2)
60 8 68 5




Complete the multiplication table. 4 1
Answer the number that applies to the following squares.
1 2 3 5 6 7 8 9
1 1
2 2 4 x[1 32 4x[1 28
3 3 4 x8 32 0 8
4 4
6 x [ 42 5x0 30
5 5
6 6 6x( 7) 42 - 7
7 7 5x [ 45 7 x [ 35
8 8
= 5x( 9) 45 (| 9
9 9 18 45 81
7 x [ 56 6 x [ 48
Calculate by addition.
7x8 56 0 8
6x3 8 x3 5 Calculate the following expression.
6 6 6 18
6x2 8 x 2 32=8 4x8 32 64 = 8
6 6 12 4
( 4))(2 ( 7))(2 21_( 7) 7x3 21 40_( 4)
(4 (4 s ’
18+ 3 3x6 18 28+ 7
Calculate the following expression. 6
( 54)=( 6) 6x9 54 ( 72)=( 9)
(4)x1 ( 7)x1
9
4
40 —( 5) 5x8 40 24 —( 8)
(4)x0 ( 7)xo0
8
0
( 4) x( 1) ( 7) x( 1) 6 Calculate the following expression.
4
( 6y (5
4) x 2 7) x 2
(4x( 2 (7x( 2 C 6 o)
8
36
4 x10 7 % 10 42 32
40 (4 x 4)
4 x 15 4x(10 5) 7x 15 16
40 20 60 120={( 4=( 2} 60 ~{( 6)+( 2)}
120—=2
4 x 25 4%(20 5) 7% 25
60
80 20 100
{120 ( 4)}=( 2 {60+( 6)}=( 2
4 x 32 4x(30 2) 7 x 32 ( 30)+( 2)
120 8 128 15
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Calculate the following expression. (same sign)

( 8x(7) ( 6)x( 8
(8 x7)
56
( 5)x( 9 ( 7)x( 4
(5 x9)
45
6x( 9 8x( 5
(6 x9)
54
Calculate the following expression. (different sign)
( 8)x( 9 ( 7)x( 6
(8 x9)
72
( 6)x( 5 (9x( 7
(6 x5)
30
7%x5 8 x4
(7 x5)
35
6x( 4) 7x( 6)
(6 x 4)
24
Calculate the following power expression.
82 72
8 x8
64
(9 (77
(9 x( 9
81
(43 (5P
(4)x( 4)=x( 4)
64
24 34

([
Answer the number that applies to the following [ .
2x[ 18 3x[ 15
2 x9 18 O 9
4 x[] 20 5x0 25
4x( 5 20 (| 5
4 x [ 24 8x[ 24
4x6 24 6
8xO 72 8x[ 32
8x( 9 72 [ 9
Calculate the following division expression. (same sign)
( 12)=( 2) (21)=( 3)
(12 = 2)
6
(28)=( 4) ( 36)=( 2
(28 = 4)
7
( 6)=( 10) ( 10)=( 8)
(6 =10)
6 3
10 5
Calculate the following division expression. (same sign)
(12)=( 4) ( 40)=( 10)
(12 = 4)
3
72=+( 8) 36 =( 3)
(72 = 8)
9
54 -9 48 = 6
(54 = 9)
6
( 10)= 12 ( 12)=9
(10 +12)
10 5
12 6
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Calculate the following expression. (same sign)

(8)x( 7 ( 7)x( 8
(6 x7)
42
( 5)x( 8 ( 6)x( 8
(5 x8)
40
7x( 9 8x( 3)
(7 x9)
63
Calculate the following expression. (different sign)
(8 x( 4 ( 7)x( 5
(8 x4)
32
( 6)x( 9 (9 x( 8
(6 x9)
54
9x4 8x7
(9 x 4)
36
10x( 4) 10x( 3)
(10 x 4)
40
Calculate the following power expression.
72 52
7 x7
49
(32 (6
( 3)x( 3)
9
(23 (3
( 2)x( 2)=x( 2)
8
32 42
(38 x3)

([
Answer the number that applies to the following [ .
|
2x 12 3xO 21
2 x6 12 6
4 x [ 12 5x [ 40
4x( 3 12 (| 3
4 x [ 28 8x[ 56
4 x7 28 O 7
8x[1 40 7x[1 35
8 x( 5 40 [ 5
Calculate the following division expression. (same sign)
(24)=( 3) (40)=( 4)
(24 = 3)
8
(28)=( 4) ( 36)=( 2
(28 = 4)
7
( 6)=(9 (15)=( 6)
(6 +9)
6 2
9 3
Calculate the following division expressio
( 15)=( 3) ( 30)=( 10)
(15+ 3)
5
63 =( 9) 36 —( 4)
(63 = 9)
7
3B5+7 42 = 6
(35 = 7)
5
( 16)= 12 ( 15)= 6
(16 +12)
_16 _4
12 3
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Calculate the following expression. (same sign) 1
Answer the number that applies to the following [ .
|
6) x 9 5) x 9
( ) ( ) ( ) ( ) 4 x[1 28 3x[ 24
(6 x9)
- 4 x7 28 O 7
( 3)x( 8 ( 3)x( 9 4xm 24 6x1 42
(3 x8) 4x( 6) 24 6
24
7X( 6) 8x( 7) 8 x [ 24 6 x [ 48
(7 x6) 8x3 24 I 3
42
2x[1 18 7x[ 28
Calculate the following expression. (different sign) 2x( 9 18 | 9
( 9) X ( 4) ( 7) X ( 7) Calculate the following division expression. (same sign)
(9 x4)
36 ( 24)=( 2) (48)=( 2
(6)x( 8) (5)x(7) (24 = 2)
48 ( 32)=( 4) ( 36)=( 4)
O9x7 O9x5 (32 - 4)
(9 x7) 8
63 ( 25)=( 10) ( 35)=( 10)
10 x ( 5) 10x( 6) (25 =+10)
(10 x 5) 25 5
50 10 2
Calculate the following power expression. Calculate the following division expression.
12 32 ( 35)=( 5) ( 30)=( 6)
L x1 (35+ 3)
7
1
56 =( 8 36=( 9
(9)? ( 8)? (8 (9
(56 = 8)
(9)x( 9 ,
9
25+5 30 =6
1)3 2)3
() (2 s+ 9
( D)x( 1)=x( 1) 5
! ( 16)+ 10 ( 24)= 10
2 2
6 5 (16 +10)
(6 = 6) 16 8
10 5
36
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Calculate the following expression.

Calculate the following expression.

(20 3( 4 ( 3)( 4( 5 (405086 1) (2 5(86(7
(2 x3 x4)
24
(9 (8> (77 (2
(9(09)
81
34 24 43 5
(3
81
3 (2.7 4 (2 9 7 (2 3 4 (2 ¢
3 (5 3 (5
2
3x(6 2 4x(7 3) 3x(6 8) 4% (10 7)
3 x4
12
24 =(2__6) 12+(3 4) 36+ (4 8) 12+ (6 2
24 =( 4)
6
6 2x5 4 3x2 6 2x5 8 3x2
6 10
16
7 3x( 5 8 3x( 2 7 ( 5x3 6 3x( 2
7 (15 7 15
8
4 8=(.2 9 6=( 3 4 6-=( 2) 9 6-=( 3
8
2% (_5) 3x( 2 4 (27 @ -2 (1)
2 x 25
50
4 8 2 6 4 2 8 6 2 @ 4 2 8
(4 83 2)
2
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Calculate the following expression.

Calculate the following expression.

(2030 4( 59 ( 3)( 4(5( 8 ( 3)( 4( 5( 5 ( 5)( 6)( 4
(2 x 3 x 4 x5)
120
(5° ( 10° (1)° (3
(555
125
7? 6 52 42
(7%)
49
8 (2 6 5 (2 4 3 (2 8 6 (2 8)
8 (4 8 (4
4
5x(8 2) 8x(9 4) 2x(3 8 6x (10 5)
5 X6
30
36+ (4 6 24 = (4 12) 16 = (2 4) 48 = (12 8)
36 +( 2)
18
6 2x8 5 3x4 6 3x5 3 2x5
6 16
22
9 (L4x2 6 ( 2)x3 6 3x( 4 8 (3x( 4
9 (8 9 8
1
6 9=(3 10 8=( 2 4 (6 =2 9 ( 12)=( 3)
6 (3 6 3
3
3x( 2 2x( 3y 4 (2 @ -2 (2
3 x( 8)
24
2 6 4 4 6 2 6 4 2 4 6 2
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Calculate the following expression.

Calculate the following expression.

( 5(3( 4( 5 (403 95( 2 ( 3)( 4( 6( 5 (50 7( 4
(5 x3 x4 x5)
300
(6 (37 (3 (3)f
( 6( 6
36
43 22 28 24
(4°)
64
8 (2 4 5 (2 6 3 (5 8 6 (3 8
8 (6 8 (68
2
5x(3 9) 4x(9 4) 3x (2 4) 8x (7 2
5 x( 6)
30
36+ (9 6 24+ (6 2 18 =+ (2 4) 24+ (12 8)
36 +3
12
6 2x4 6 3x2 8 4x3 6 2x4
6 8
14
3 (L4)x3 8 ( 2)x5 5 3x( 2 9 ( 3x( 9
3 (120 3 12
9
9 6-—=( 3 12 8 +( 4) 2 (1 12)=2 6 ( 24)=( 2)
9 (2) 9 2
7
5x (_4)° 4x( 2° 4 (1) 2 (9
5 x( 64)
320
6 2 4 6 2 4 4 2 6 4 2 6
( 6+ 2+ 4
8
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Calculate the following expression.

Calculate the following expression.

5 x 2
10
36+ (4 8 24+ (3 6) 12+ (4 6) 36+ (6 4)
36 =( 4)
9
6 2x( 4 6 3x( 5) 8 2x( 5 6 2x( 4)
6 8
2
3 (4)x(.2 4 (5)x( 3 20 3x( 4) 15 ( 3)x( 5)
3 (8 3 8
11
12 (_6)=( 3 2 (10 =( 9 2 (12)=( 4 @ —6 ( 24)=( 6)
12 (2 12 2
14
2x(_3)° 3x( 2 ax( 1) @ —5x( 2
2 x( 27)




